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Answer four (04) questions. Each question carries 25 marks.

1. Why does research into development processes and outcomes require a multi-disciplinary
- approach? Answer this question with reference to the social, economic and political
variables citing examples.

2. “If theory offers ideas (concepts) about how the world works, research is about
- empirically documenting whether or not those ideas are correct. Consequently, research
can be seen as either an effort to a) test established theory or b) generate new theory”.
Explain.

a) A student scored 65 on a sociology test that had a mean of 50 and a standard deviation of
10; she scored 60 on a political science test with a mean of 55 and a standard deviation of
5. Compare her relative positions on the two tests.

b) The mean for the number of pages of a sample of women’s fitness magazines is 132 with
a variance of 23; the mean for the number of advertisements of a sample of women’s
fitness magazines is 182 with a variance of 62. Compare the variations.

4. In a high school, 85 boys and 70 girls were questioned on drug use and 54 of the boys
and 14 of the girls admitted that they heavily used some sort of a drug. Is the severity of
the drug problem in high school the same for boys and girls? What can be concluded at
the .05 level?

5. Prepare a report on the following regression output.
From a “coefficients’ table, the OLS method produces the following estimated equation:
Y=-1.118 +.148X, +.793X,
Y = annual food expenditure
X1 = Annual income '
X, = family size
In addition, in a ‘Model summary’ table, the following summary statistics are also
reported.
R =.967, R*= 935, Adjusted R3= 927, S. =1.261 and Durbin Watson statistic = 2.616
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a) What are the characteristics of the Chi-square distribution?
b) Explain the steps in Chi-square analysis in hypothesis testing.

. In random samples of 12 from each of two normal populations, we found the following
statistics:

X1 =74 S] =18

X, =71 S, =16

a) Test with a = .05 to determine whether we can infer that the population means differ.

b) Repeat part a increasing the standard deviations to S; =210 and S; = 198.
¢) Describe what happens when the sample standard deviations get larger.

. “Social scientists working on multidisciplinary fields such as development will have to pay
their high attention on ethics”. Explain. :
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